M.A.-I (Economics) (CBCS Pattern) Semester - |
EO-104 - Optional Paper : Statistics for Economics- |

P. Pages: 6 GUG/S/23/10212
Time : Three Hours |Illl\l!IIII!\IIILIIII{LIH |l|| Max. Marks : 80
Notes: 1.  All questions are compulsory.
2. All questions carry equal marks.
3. Use of simple non-programmable calculator is allowed.
4.  Use of mathematical table is allowed.
1. Critically examine the working of National Sample Survey Organization (NSSO) and

Suggest improvements in its working.
OR

Write the meaning of sampling. Explain the difference between random sampling Stratified
Sampling.

2. What do you mean by measures of Centre tendency? What are the importance of it in
statistics analysis?

OR

Find out standard deviation and coefficient of variation from the following series:

Mark above: 0 10 20 30 40 50 60 70
No. of Student: 100 90 75 50 25 15 5 0

3. Answer any two from the following question:
a) Differentiate between correlation and regression analysis?
b) Define Dispersion. Explain the various methods of measuring Dispersion.
c) From the following data obtain both regression equations by least squares method and
verify them by Karl Pearson's method:
2 (X-5)=6,Z(X-5)2=56, 2(Y-8)=12, £(X-8)2=130,
2(X-5)(Y-8)=-55 N=6

d) From the following data, calculate coefficients of correlation by the methods of Rank
correlation.

Marks in micro Economics | 40 52 42 36 29 62 54
Marks in Macro Economics | 45 48 57 64 33 55 49
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4. Answer any two from the following question:
a) Give the definition of probability and state its limitations.
b)  Addition and Multiplication rules of probability.
c) In how many ways can 4 passengers be seated in a small 10 seaters bus?

d) In how many ways can be letters of the word BALLON be arranged so that two L's do
not come together?

5. Answers the following question all compulsory.
a)  Write a note on Agricultural Statistics.
b)  Write a note on Geometric Mean.
c) Write a note on Regression Line.

d) Write a note on Conditional Probability.
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4. GrelTeldehl HIVTART &leT 92T HlSaT.
3)  HTSIdd SATEdT 3fOT FATET HiA.
9)  HTeHar I AT yAY 3T AUN’ wAT T FIE @i
@) 10 3THeAT Tenl BT o7 HEY 4 Yol fovell Teh S Ahclel?

S) BALLON g sg fohcll JehR eaeUAqul HJg Aehcil Siegl &l L § H&W UehT dadl

T HISAT Hedl ATS?

5. Grellel g4 geaArdr 3 fogr.
3) N FHER IR feu e
9) IUNcHE AT I e o
F)  TA9EH I8 FEX T o
3)  FAT HTEAT AR T T,

A A A B A A 0 B A 0 B X
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